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101|R#A7 L 485 90 395 Kg |&)I 1,404 194| £ 1,944 540
102|&JE 7= L 2,467 2,467| Kg S - BiE 3,791 579
111|&EEF £ 394 394| Kg ERE - &4 1,836 216
113|RAV S 17 9 8| Keg |EE 2,160 756 2,376 1,404
114|B5EFE 308 61 247 Kg |ERE 1,080 216|8E 2,539 216
15[ 1= 1 1 Kg |EfE 1,404 755| FfE 3,025
117[1E 288 58 230| Kg |EE 2,376 1,080| & 3,780 1,188
21| bl E 84 75 9 Kg |ERE 1,080 54|FfE 1,080 864
134[#= = 341 217 124| Kg |&) - £ 2,376 540| £/ 2,484 1,944
140(5 I 30 30| Kg b 25,920 2,127
147|E2 O 124 124| Kg |EE 8,638 4,320 48 9,180 5,000
168|BIEH AL H 402 402| Kg BR 1,944 540
201|{Lb L 302 302| Kg we - TE 300 108
203|/hé L 146 146 Kg 5 378 270
205|585 L 219 219| Kg R 828 720
206| = 1F 645 645| Kg )1 756 346
208| Mo % 278 278| Kg ML 1,458 648
210{1F AL 288 224 64| Kg |EI5 4,050 1,215| 15 3,780 2,106
212|&5E.3 Y 286 286| Kg Ko - BiE 2,484 918
222|052 22 22| Kg 3= 486
251|< B %<3 750 187 563| Kg |BER 3,024 2,538|E1E 7,344 3,672
252|L0AEECH 275 275|  Kg =] 1,944 972
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54| Eh1cECH 366 366 Kg AR L 2,408 1,220
306|L e k) 25 25 Kg 12k 864
3191 h o 158 158] Kg - &E 1,836 1,400
332|117 WA EF 175 175 Kg JbF 3,024 2,160
351|4£ 8 41 5 36| Kg [%E 4,104 . 32,400 3,456
3541 <Y 68 35 33| Kg |FFE 1,296 864 |5 1,782 1,080
3/5|HEY 186 186 Kg A - PE 1,620 600
356|L L& 25 25 Kg SR 1,080
3577~ E 20 20 Kg FEE 1,782 810
358| KE 5 5 Kg A0 2,916
401|H W 61 61| Kg HE 2,376 1,620
4025 5 &E 10 10| Kg [ 4,860
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512| A& AL 102 102| Kg b 1,450 410
523| A EARAT 2 O 188 188| Kg =] 2,100 540
54| ARE & 2V 21 21| Kg Bh 1,566 1,500
558|# 30 30| Kg b 1,242 756
560|472 132 132| Kg Bh 2,450 900
581|4H T Y & 400 400| Kg =] 691 529
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70110 BA 2,411 1,662 749 Kg |EE 5,743 4,250 &= 2,592 108
704\ LETF 30 301 Kg F) 972
BlBEFALANIN 9 9] Kg FJE 960
54T AE 7 7l Kg & 1,836
755|FH&» C 117 1171 Kg bF 828 553
56| £ T 12 12 Kg B 1,008
76l|b Y AEE 18 18 Kg FOarL 3,780 3,471
B01[IBAL = 1S 146 1461 Kg ¥ -mA 1,728 1,134
802|1 x| 20 201 Kg mE 1,296
8051 1E 349 349 Kg JbiF 994 579
810|FAKF 55 551 Kg bF 2,638 1,026

1/1




